Please choose ONE answer for each question.

1. Each signal change or element is called a:



A. bit



B. byte



C. baud



D. signal

2. The efficiency of an asynchronous transmission using 1 stop bit, 1 start bit, and 1 parity bit is:



A. 20%



B. 30%



C. 50%



D. 70%

3. Which of the following is NOT one of classes of function for control signaling?

A. establishment

B. supervisory

C. call information

D. network management

4. Which of the following is NOT one of the stated advantages of packet switching over circuit switching?
A. there is less network delay
B. data rate conversion can be provided

C. priorities can be used

D. connections are never rejected

5. Which of the following is NOT a reason for network jitter when using packet switching networks?

A. packets may vary in length


B. packets may take different paths through the network

C. packets may encounter network congestion

D. data rates will vary from one trunk line to the next

6. In a __________ network, data entering the network from a station are routed to the destination by being switched from node to node.

A. packet switching

B. simple switching

C. switched communication 
D. all of the above

7.  Prior to cellular radio, mobile radio and telephone services required:

A. a high-power transmitter/receiver

B. multiple transmitters/receivers

C. only one or two dedicated channels

D. that many channels be used, which exceed the frequency capacity


8. When a mobile unit moves, it may connect with a different base station. This action is called ____________.

A. a handoff



B. a transfer

C. a reconfiguration


D. a dropped signal

9. Because of the limited frequencies available, a key design element of any cellular system is to ___________.

A. use small cells



B. employ multiple access

C. limit the number of users at one time


D. use as many frequencies as possible

10. Which of the following is NOT one of the components of the WAP specification?

A. A framework for wireless telephony applications
B. A full-featured communications protocol stack
C. A programming model based on the WWW
D. A markup language adhering to XML


11. The WAP Programming Model uses a ________ that acts as a proxy server for the wireless domain.

A. translator


B. WAP server

C. gateway


D. decoder

12. _________ was developed to address the limitations of cellular and other wireless networks for providing data services to mobile devices.



A.  WAP


B.  Droid



C.  GEOS


D.  WML

13. Wireless communications is likely to be viewed as an essential part of  enterprise network infrastructure except when:

A. Mobile communication is needed

B. Communication must take place in a hostile or difficult terrain that makes wired communication difficult or impossible

C. Communication facilities must be installed at low initial cost

D. The same information must be broadcast to many locations

14. The problem of using IP numbers for addressing hosts in the Internet are resolved using __________.



A. the concept of domains and the use of domain names



B. the use of Telnet applications



C. the use of email servers



D. splitting IP addresses into four octets

15.  The newer IPv6 specification uses addresses to identify hosts that consist of:

A. 128 bits


B. 64 bits

C. 32 bits


D. 16 bits

16. Which of the following does distributed processing typically not support?

A. applications


B. device controllers

C. data



D. mainframes


17. Which of the following is not a function provided by servers in client/server systems?

A. printing services

B. data entry

C. database services

D. gateways

18. With __________ virtualization software is used to allow a piece of computer hardware to simultaneously run multiple operating system images.


A. network


B. server


C. operating system

D. storage

19. Advantages of a web/database system as compared to a more traditional database approach include:



A. improved functionality and ease of administration



B. ease of administration and transaction tracking



C. rapid development and flexible information presentation



D. easy deployment and improved functionality

20. Email functions concerned with the protocol operations needed to transmit and deliver messages are considered:


A. message transfer agent functions

B. client functions


C. email client functions


D. user agent functions

21. Which of the following is a true statement regarding SMTP processing of messages?

A. messages typically are sent through multiple SMTP systems while going from the sender to the recipient

B. the SMTP sender remains responsible for a message until it has been delivered to the recipient

C. SMTP does not guarantee that all messages are delivered

D. SMTP attempts to send messages until the recipients become available

22.  Which of the following is NOT a standard MIME content type?



A. audio


B. binary



C. messages


D. image

23. The ________ relays mail for one application-level hop.



A.  MSA



B.  MS



C.  MTA



D.  MDA
Part II. Essay questions 
Answer the questions succinctly and clearly, explain your answer, and show your work.  The explanations need to be brief, but complete, logical, and to the point.  Do not quote anybody else; use your own words and calculations.

1. Figure 12.9 shows LLC PDU in a generic MAC frame. What is the highest and lowest percentage of the length of the MAC frame could be LLC PDU data? 
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Figure 129 LLCPDU in a Generic MAC Frame Format




2. In the Ethernet MAC frame, the data segment has a minimum length of 46 byte Why do we have to have a minimum size of data in this frame? 
3. Everyone probably has a wireless router at home and/or at work. Do you think a wireless router is a pure layer 3 device? Why?
4. If a carrier signal uses a combination of modulation methods, how many bits of data can one signal carry with BFSK, QPSK, and 8 possible different amplitude?

5. A packet with the size of 2K bytes goes through a WAN. If the packet goes through 10 store-and-forward switching/routing devices, all of which have the transmitting rate of 2Mbit/s, what is the total delay the packet experiences in this WAN? Please ignore the processing delay and propagation delay.

6. In a highly populated area such as big cities, a cell of a cellular network may have way more user than a cell in other areas. What methods are available for crowded areas?
7. In a CDMA network, two users with codes 110110 (user A) and 100101 (user B). What would be the bit sequence for each user in the encoded message “1010”?
8. In a network system the administrator wants to monitor the traffic going through each switch point, and control the routing accordingly to balance traffic going through each link. Please create one distributed solution, one centralized solution, and briefly describe under what conditions one of the two solutions are preferable.[image: image2][image: image3][image: image4][image: image5][image: image6][image: image7][image: image8]
